GertsDeals

Free Questions for 500-47/0 by certsdeals
Shared by Solomon on 06-06-2022

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Which two options are SD-WAN solution capabilities? (Choose two.)

Options:

A- Ability to provide and integrate security with complementary products and applications
B- The separation of management plane, control plane and data plane to enable horizontal scaling
C- Truck roll branch turn up for easy provisioning and new installations

D- Cloud hosted or on-Premise fully redundant management and control plane functions

Answer:

B,D

Explanation:

https://www.cisco.com/c/dam/m/sl_si/training-events/2018/cisco-connect/pdfs/


https://www.cisco.com/c/dam/m/sl_si/training-events/2018/cisco-connect/pdfs/

sodobna_prostrana_omrezja_s_sd-wan_konceptom_tom_ cof.pdf

Slide 2

Question 2

Question Type: MultipleChoice

Where does the Cisco V-Edge Router perform QOS traffic classification?

Options:

A- Per VPN
B- Per vEdge
C- Egress interface

D- Ingress interface

Answer:

D



Question 3

Question Type: MultipleChoice

What is the maximum # of concurrent endpoint with a distributed deployment?

Options:

A-500,000
B- 20,000
C-10,000
D- 100,000

Answer:

A

Explanation:

https://www.cisco.com/c/en/us/td/docs/security/ise/2-1/install_guide/b_ise_InstallationGuide21/


https://www.cisco.com/c/en/us/td/docs/security/ise/2-1/install_guide/b_ise_InstallationGuide21/

b_ise_InstallationGuide21 chapter_00.pdf

Question 4

Question Type: MultipleChoice

How many vEdge router security zones (VPN's) can be configured?

Options:

A- 256
B-32
C-510
D- 16

Answer:

C

Explanation:




https://sdwan-docs.cisco.com/Product_Documentation/Software_Features/

Release_18.1/04Segmentation/02Configuring_Segmentation_(VPNS)

Question 5

Question Type: MultipleChoice

Which options are Network Access Device types?

Options:

A- Switches, Wireless Controllers, and VPN Gateways
B- Wireless Controllers, Routers, and VPN Gateways
C- Switches, Wireless Controllers, and Routers

D- Switches, Routers, and VPN Gateways

Answer:



https://sdwan-docs.cisco.com/Product_Documentation/Software_Features/

Explanation:

https://www.cisco.com/c/en/us/td/docs/security/ise/1-4/admin_guide/b_ise_admin_guide_14/

b_ise_admin_guide 14 chapter_0100.html

Question 6

Question Type: MultipleChoice

How many bytes does a VXLAN header add to an original Ethernet frame?

Options:

A- 36
B- 50
C- 48
D- 64


https://www.cisco.com/c/en/us/td/docs/security/ise/1-4/admin_guide/b_ise_admin_guide_14/

Answer:

B

Explanation:

https://www.cisco.com/c/en/us/support/docs/lan-switching/vlan/212682-virtual-extensible-lan-andethernet-

virt.html

Question 7

Question Type: MultipleChoice

How does identity management solve two customer problems? (Choose two.)

Options:

A- Enables and enforces 802.1X across the network platform

B- Manages group membership


https://www.cisco.com/c/en/us/support/docs/lan-switching/vlan/212682-virtual-extensible-lan-andethernet

C- Provides network visibility and security
D- Increases digitization

E- Achieves dynamic and adaptive network segmentation

Answer:

C E

Explanation:

https://www.slideshare.net/robboyd/techwisetv-workshop-cisco-identity-services-engine-ise slide 3

Question 8

Question Type: MultipleChoice

Which three methods can be implemented and deployed to gather data and provide insight? (Choose three.)

Options:



https://www.slideshare.net/robboyd/techwisetv-workshop-cisco-identity-services-engine-ise

A- IPv6

B- ARP caching
C- FNF

D- BUM traffic
E- Syslog

F- SNMP

Answer:

C,EF

Question 9

Question Type: MultipleChoice

Which three options describe fabric overlay concepts? (Choose three.)

Options:




A- A link state routing protocol like OSPF

B- A virtual Local Area Network

C- An Overlay uses alternate forwarding attributes
D- GRE is a type of Overlay

E- Intermediate System to Intermediate System

F- An Overlay is a logical topology

Answer:

B,D, F

Explanation:

https://www.slideshare.net/Cisco/hawaii-tech-day-new-solution-in-switching slide 18

Question 10

Question Type: MultipleChoice

What is the default interval for BFD packets?


https://www.slideshare.net/Cisco/hawaii-tech-day-new-solution-in-switching

Options:

A- 1 second
B- 15 seconds
C- 10 seconds

D- 5 seconds

Answer:

A

Question 11

Question Type: MultipleChoice

What is a challenge of having an SD-Access Centralized design where a single fabric encompasses the main site and all branch sites
across the WAN?

Options:




A- End to End Routing is not supported
B- SSIDs would be the same across all sites
C- DNA Center does not support it

D- Since the traffic is encapsulated. SD-WAN features can't be used to optimize/route traffic.

Answer:

A
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